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o] ‘Lét 7(t) = (e* cost, e?, etsint).
(a) (3 marks) Sketoh the graph of 7(t).
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Jb) (4 marks) Find the equation of the tangent ine to the curvc of 7(t) at the
pomt(ll()) 47 T
L"’" Py <es--u- * e ml— ) 'r“'.g

SO BT ‘ L AR ALt ,:/ ¢ Cos. l-+ Sm.l-c-') s L
L {\ :"" ..< e ul%a SRR L
= - ":':'-ml +f- Cmﬂ‘ Le , : c,,;g .|.e.51ﬂ a T
o qé s ; B
: Vv a2 " ' X
V - ‘ + ‘L ‘\ ."1‘-
AR

V= 4 42t
2-1L

i r,l.

>
.w’) Ve Q‘f—z] (4 marks) Find the arc length of the curve 7(t) = '\/-_ ffi + e"* j+e”
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[31 (3 marks) Sketch the domain of the function f(x,y) = e
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_¥5] (4 marks) Let f(x, y) = 1/ x3 +y3, Use the deﬁmtmn of the derwatwe
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6] (4 marks) Find the tangent plane to the surface z = 2x+3
a3 at the point

00. 2- -z.,.\_‘&/((-q) + Ly (4-b)
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J]] (4 marks) [Suppose that £fi 15 a drffercntlaﬁle fun ctmn and
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g, v)=f (f_‘i_-_i-__s__glv ,e¥ +cos 7). Use the table to fmd g..(0,0).
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